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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

wanel EgeH YA Uy N W A afqardd: fEg |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

7% A siferd §

All the questions are compulsory.

Yoeh TR 1 3R S RS- | ¥ fod |

Write the answer to each question in the given answer-book
only.

e wed % w ¥ aifys wmE s a9 €, 39 9 e @ T T
e Haq fas |

For questions having more than one part carrying similar marks,
the answers of those parts are to be written together in
corttinuity.

AT IW-YRTR F g7 & B4 oiR Tofaw 1 aft =X wrf @ 9,
@ SW-gie & Afag 7= W w ok 3 fet el @ wee 39 W
‘TFEE fae g |

Write on both sides of the pages of your answer-book. If any
rough work is to be done, do it on last pages of the answer-book
and cross with slant lines and write ‘Rough Work’ on them.

S5—09—1—Maths. I [ Turn over



6. T HAH 237 25H T=H fawey § |
There are internal choices in Question Nos. 23 and 25.

7. WA 29 79F A AYTOHF ¥
Question Nos. 2 to 7 are Very Short Answer type.

8. W HH® 1k AN W (4, ii, iti T iv ) ¥ 3R wo=k w1 § = fomwey
A, B, 3R D few mu ¥ | Wt suuer Sw-yfeen A fAgEr aifer
EE T

part has four alternatives A, B, C and D. Write the letter of the
correct alternative in the answer-book at a place by making a
table as mentioned below :

W9 ShHih T I HT BTSN

Question No. | Correct letter of
the Answer

1. (i)

1. (i1)
1. (iii)
1. (iv)

1. () 1,600 %o T 5% Thgfg =1 &l X F 298 1 fagua &, wefe =amw

e 2 2,
105 )2 105
(A) 1,600x[m) To (B) 1.600><[sz0
100 )3 100 §?
Q) 1,600x[ﬁ] To (D) I,GOOx[ﬁ) To |

The amount of Rs. 1,600 for 2 years at the rate of 5% compound

interest per annum is

105 )2 105
(A) Rs, 1,600 x [mj (B) Rs. 1,600 x ( 100 J
. 100 \° . 100 \? 1
(C) Rs. 1,600 x( 105 ) (D) Rs. 1,600 x[ 105 J 5
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3

@ € (x-2) TR P(x)=x%-2x2 + 2x - 4 & AGE T, ql

P(2) WMAR®
@A 2

c o

B 1
(D) - 2.

If { x~ 2) is a factor of the polynomial

P(x)=x%-2x2%+ 2x- 4, then the value of P (2 ) is

@ 2
& O

7 9% 9IS QA HI AR w1

A 3x+7

® 1

D) - 2. %
@) foar =7 ey s8% qF wt g W fa } | Al foam =t ey xwd ®, @

(B) §+7

(D) x;?

Q) x+7

The age of a father is three times the age of his son. If the age of

father is x years, then after 7 years age of his son will be

(A) 3x+7 B F+7

) x+7 (D) x; 7 . %
i) 1,3, 5, x T WARK 4 4%, 9 x OF

A 4 B 4-5

) 6 (D) 7.

If the arithmetic mean of 1, 3, 5, x is 4 then the value of x is

A 4 (B) 4.5

© 6 D) 7. 5

Teh e ! SFEE T a4 § 10,000 § 10,200 @ T, @ gig < 91 wifew |
The population of a village is increased from 10,000 to 10,200 in one

year. Find the rate of growth. 5

x 3 - 64 F TOFEUE FT |

Factorise x°— 64,
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10.

| P

12.

13.

-+

Jc R 9% | 19 shiten e fou f= aeo fed &1 &6 g JE1 ©
3x+ky-1=0
6x+4y+2=0

Find the value of k for which the following system of equations have

no solution : %

3x+ky-1=0
6x+4y+2=0
HHERTO 3x2 - 12 = 0 ! & HifSQ |
Solve the equation 3x2-12 =0.

1| -

fgema et 9 ey e ga 33K - 2% |
Find the quadratic equation whose roots are 3 and - 2. %—

T sieq st mifeare Ad HT
11, 14, 10, 15, 17.
Find the median of the following distribution :

11, 14, 10, 15, 17.

A THITHRA A9 R 35 1 =1 F1d IS |

Find the square of 35 by the Sutra Ekadhikena Purvena. 1
3 I 9T Yy g GHISR 3 (x-2) =5 (x~2) I B HIAC |
Solve the equation 3 ( x-2) =5 ( x- 2 ) by the Sutra Sunyam Samya
Samuccaye. 1
12,000 %o ! TH a%] eI T & IF TAH a1ftfes feedl W wlgw @@ fFa
T | YA FRE %y 9 Ui 9 12% At WeRe o R R W 39 € A
TH{ Tt o WY <7 SIS T HifSQ |

It was decided to buy an article of Rs. 12,000 in three equal annual

instalments. With each instalment simple interest at the rate of 12%
per annum is charged on the remaining amount. Find the interest to

be paid with the second instalment. 1
x3 + y? + 823 - 6xyz & HETE HifT |

Factorise x3+ y3 + 8z3 - 6xyz. 1
et ™ 2x—y =3, 4x+ y=3 A TA FHIC |

Solve the system of equations 2x-y =3, 4x+y=3. 1

fgama Tt 4x2 + 12x + 9 = 0% H&A S YFHI J@ AT |
Determine the nature of the roots of the quadratic equation
4x2 + 12x + 9 = 0. 1
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14.

15.

16.

18.

19

20.

21,

5
29 2, 5, 8, 2, 6 AEHR 9 foan aeg fa=eq I wifsw |
Find the mean deviation of the distribution 2, 5, 8, 2, 6 from the

median. 1
3 THfEe™ g1 102 x 103 %1 A4F 9 St |
Find the value of 102 x 103 by the Sutra Nikhilam. 2

oz R W 7 U AR H 99 Yo T 96 & fag o | gy o whee
TEIRR B | FAA Y B 20% TMRAME T 7@ W | o9d F 3fa g
30,000 %o & @Y H W g T foem el ufyr 7d e |

Surendra and Narendra invested equal amounts of money for one year
in a business. It was agreed upon to pay 20% of the total profit to
Surendra as remuneration for being the active partner. Find the share
of Surendra in a profit of Rs. 30,000 at the end of the year, 2

T 99 W A FE: 60,000 Fo FA 1,00,000 Fo TR U SR THFY
fera | 5018 o< W@ A 30,000 Fo Y AR AR # 3R @ | 4z a9 & a1
T FA 92,300 Fo A9 G T, T IS & oY 1 fewmn w0 Fifqw |

Rekha and Seema started a business by investing Rs. 60,000 and
Rs. 1,00,000 respectively. After five months Rekha invested
Rs. 30,000 more in the business. If at the end of the year the total

profit was Rs. 92,300, then find the share of each in the profit. 2
x% - 7x+ 6 & TUAEUS Hifay |
Factorise x3 - 7x+ 6. 2

'Slﬂfl'(x2_9](x+3) T x2 + 6x + 9 F o o Yo JI hifod |

Find the L.C.M. of the expressions
(x2—9)(x+3]andx2+6x+9.

st fafy & =1 weite e = ga Fifeg
U=x+2, y=2x

Solve the following system of equations graphically :
y=x+2, y=2x

37 < SHHETTT JUreh] Sl FId Hifeg ek 9 &1 A 85 % |

Find two consecutive integers whose squares have the sum 85. 2
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22. Trfafaa siwel @ g faftre g « 91 Fif

g i A"t/ SAEE Teehi ehi HE&AT
54 A . 6,000 120
5-20 10,000 30
20 - 60 20,000 80
60 ¥ Afue 4,000 160
Find the age specific death rate for the following data : 2

Age group in years | Population Number of deaths

Under 5 6,000 120
5-20 10,000 30
20 - 60 20,000 80
Over 60 4,000 160

23. T&H FHer 2,200 Fo TG Y 600 To Thlel A X AT 300 Fo H
6 HITgeh Tl o SUTT=9 & | =41 &1 €1 J1d Hifeg |

STar

Y 9 18,000 %o = fAfas™ 3,000 To TE UH 99 WH & GUH onfvsw
forwdi W 10% =shafg =A1S &1 U H T o Y W Tiel | Ik forsd ki
Y fehedn g9 ¥991 | J1d hited |

A cooler is available at Rs. 2,200 cash or for Rs. 600 as cash down

payment and 6 monthly instalments of Rs. 300 each. Find the rate of
interest.

OR

Ramesh bought a television costing Rs. 18,000 at Rs. 3,000 cash
down payment and the rest to be returned in two equal annual
instalments with 10% compound interest. Find the amount of each
instalment to the nearest rupees ten. 3

24. 10,000 To H 5% IMH A Tt <L § 3TY & Thglg A 1 SIS,
Srafer =TS aifdes 29 ¥ |

Find the compound interest on Rs. 10,000 for 3 years at the rate of
5% per annum, when interest is payable annually. 3
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25. = @ §eq &1 agad Jd HieT

- 0-10 10-20 20-30 30-40 40 - 50 50 - 60

ATETAT 3 12 - 14 10 8 74

3TerET
=1 SR Seq &1 /e J1d it

-3 0-10 10-20 | 20-30 | 30-40 | 40-50
AT 7 10 15 8 10

Find the mode of the following frequency distribution :

Class-interval | 0-10 10 - 20 20-30 30-40 | 40-50 50 -60

Frequency 3 12 14 10 8 7

OR

Find the mean of the following frequency distribution :

Class-interval 0-10 10-20 20-30 30-40 40 - 50
Frequency 7 10 15 8 10

26. 1= armEra 923 & fau aiftass 9 fozn o wren fa=em 9| S

455 3 4 5 6 7 8 9 10
e 10 11 12 13 9 12 14 7

Calculate the mean deviation from the median for the following

distribution : 3

Xie 3 4 5 6 7 8 9 10
10 11 12 13 9 12 14 7
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